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General Instructions:

(i) All questions are compulsory,

(i) The question paper comists of 32 questions divided into five sections A, B,C,DandE.
Section-A comprises of 4 guestiogs of 1 mark each, Section-B comprises of 6 questions of 2
marks each, Section-C comprises of 10 questions of 3 marks each and Section-D comprises of

11 questions of 4 marks each. Section E comprises of ane question from Open Text theme
of 10 marks.

(i) Thereis no overall choice.
(iv)  Use of calculator is not permitted.

WUE-37 / SECTION-A
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Question numbers 1 to 4 carry one mark each

1
1 ﬁmxzsaﬁﬁmaﬁmwﬂwéwmﬁmﬁiﬂﬁﬁw
Write the in the standard form of linear equation in fwo variable.
: » {
. afz nx+ 3y =25, SRyA 1l T x FAE IE ST
If. nx +3y = 25,and y = 1then
s b — N . ~ [ 1
3 ABCD TF Fia Tqus &, Fl ZADC=7" € 1 ST AB 2 fifg £ STHfa H TAG SATER
e T &1 (x+y) I H
D C
o X
Y
A B E

ABCD is a parallelogram in which ZADC =75 and side AB is produced'to point E as shown
in the figure. Find (x +y).

4 @mwﬁmmm%ﬂnomﬂ)mttznnﬁfmrm‘r-ﬁr;msz‘iﬂaq@h%wsﬁ 1
1 I T P

The radius of a spherical balloon increases from 6 em to 12 cm as air is being pumped into it.
Find the ratios of the surface areas of the balloon in the two cases.

@ug-a / SECTION-B
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Question numbers 5 to 10 carry two marks each.

5 & 78 9T F, F1 &g T 99 BA=AC ¥ 7R ZLABC=50°%, @ ZBOC 3T /BDC T7 2
| &

B\//C

b}

In the given figure, O is the centre of the circle and B a b i ZABC= 307, find £BOC and

4

6 ABCD @ weld ¥ farmmwt sy Ap o (45 @1 uft ApjiC sk DEBC & @ ar (ADAE): 2

ar (ABEC) 3@ ®ifsr |
- S
A . B
ABCD is a trap;zzium with E being any point on side AB. If AD{EC and DE/|BC find the ratio
~ar (ADAE) : ar (ABEC).
Pﬁge 30f14

Generated by CamScanner from intsig.com



A E . B

6 ﬁ-?{a‘aﬂ%l’a%agﬁss‘c ABDCE AN AB=DC=8cm &1 T2 2B-75% T s 7= 7 2
TG T HIC |

In the quadrilateral ABCD of the given figure, AB @ AB=DC=8cm. ¥ ¢
the measures of other angles. @/

B=5% iind

U 10.5 cm 641 318 apdriapm it 3 feat feer o wm e 2 2

How many litres of a milk can u hemispherical bow i of diameter 10 3 cmy can hold

42 G WAITE TUH G w1 T A

~J

Find the mean of all positive factors of {2,

T A (2 BAE D W, (3 M W W o )1 MRd 4 0 e few ows Sm o 2
UF GGl YA A IO ETE H T GR A wiwa ww sy

Shyam collected 12 Canadian stamps, 13 American stamps and 1% Indian s12+ps Fing tha
probability that the one stamp choser. at random by his friand wiil be a non-Canadar starmp.
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to 20 carry three marks each.

Question numbers 1

11 Il & 9" x o9

12 sitq Ff f Gefaner F 8 SR xeopLa

(0.2)-(0.—2).(—2.0).(2,1).(3. %} &R (5, 0)

Verify that which of the followings are solution of equation X
1), (3, ) and (S, 0).

...‘ ' 2), [Or = 2): ('-2: 0), (2J

13 AABC %1 T Hifan, f588 BC=36 cm, /B=30" B AB—-AC=13 cm 11 3
Draw a AABC in which BC=36 ¢m, /B=3 and AB—-AC=13 om.

14 ASTU &) T Hifaw, Famd /7 =150, TU =3 cm 3UST 4 US =8 cm B 3

Constructa ASTU, in which 2T = 150", TU =3 cm and S1 v US =8 em.

15 swpfa H, ABCD U@ weredd B, Pl AR OC 21 b ospn uC wt w11 DE 3R AB R w3
T 8, fwr 4 g o e & ommion f e, D i wea fidg By
D C

F

T

D =g
In the figure, ABCD is a trapezium with AB|| DC. F is the mid-point of BC. DF and AB are
produced to meet at E. Show that I is also the mid-point of DE,
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16 APQR &7 =1 Fifore, forad £Q=105°, 2R =30" SR WA 12.5 cm ¥ 3

Construct APQR in which £Q=105°, ZR=30"and its perimeter is 12.5 cm.

17 T&F FI0 £ POR =60° FHRY | 374 fag Q W 341 e hlvl 73T | 3
Construct ZPQR =60°. Now construct its complement at the point Q.

18 FIIET 18m X 12m X 9m 518 S 7 q 3m R 9/t fFed o F1 1 9Fa 8 7 3

Find the number ofscubes, each having edge 3m, that can be cut from a cuboid having
dimensions 18 o es’

19 Sror T B A o , T @ U W A W foRq 7T T (SUUFAY BT 35 ) WA T

d by enty

{4 class in a chemistry examination (max. marks

Terenteat &t 92 | 4

- —

The following table shows the marks scote
35)

7 [7-14
MARKS 0-7

No. OF STUDENS | 4 18

Represent the data using a histogram.

_ M ﬁu?mmvﬁmﬁsﬂfdﬁdﬁm‘mﬁm'm#_:
T | R # e

- a4 A
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58
61

Yp’l/zé .

T faanedt 1 gg=od1 70 xWHﬁﬁﬁmﬁH:

(i) Fenedl & v 65 ﬁaﬁ‘%rﬁr‘O)\

(i) feraneft & wrarF e faam gen ¥ O

The mark'obiained by 30 students in a ccmpat,huja@ ?fe given below :

i R ——
i s

w N O N

Marks ~TNo. of Student <, |

g e b i i A AT A P SO AT T WY

70 §3 i
58 | 8

61 | 4

52 L7
65
75

W MN;

68

One students is choosen at random. Find the probabiiity :

[ (@) that the ﬁudent scored more than 85 marks,

|| (b) that the marks scored by the student is an odd number

B 3o _':'.-J'-‘:\.' - X 4 ; .._-'.'-!"_';:-: B

T e R e e S R e oy
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Question numbers 21 to 31 carry four marks each.

21 fefafEn T % o @ e e T e i ;
x—y=0,x+y=0,x=2.
A el B for aewe o 9w S
Driaw the graphs of the following equations on the same graph sheet :

x=y=0,x+y=0,x=2,

Also, find the area enclosed between these lines.

22 Skg"‘?{f#ﬂ‘qu‘ri-*‘igs T 410 ¥ T{m"-ﬁ%-’rf“1kg@aq}:@4

TS kg Hal FgEa T y ﬂ/ A ue gt v Yaw wiwor & w9 ¥ ey
T Sy w9 9 et wifa /

g apple be T xand that of 1 kg oranges be

- ﬁ Also, represent t graphically.

23 & i & ot ww defrgel e da aribe fes o e 8 @WJ o it wofo @ 4
fererain sl o ¥ W ' wmid srerme’ w wmen % fag R frw s : :

1 WA e
fore, iy o gwifu avm, Zdnt & fer o uw s dhnd @ e eﬂ af O WgF

¥ ¢ aur uw ww Y i from Bregail A, B, © 2l D 9w @y o w@ € fag it e

_AB.—-CD% (AD-BC) 1 @ WA ¥ @W ¥ D @ @ wgw fm oW w

g?

Cost of 5 kg apples and 4 kg oranges 1« T 410 <cu.
< y. Write the given data in form of a linear equation™
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A friendly cricket match is being organized between bvo teams. The proceeds of this mate]

will be given for the aid to the ‘Charitable Hospital for handicapped children. The field is
circular with a ring of uniform width as shown in the figure for spectators. If O is the contre of
the field and four poles are fixed at points A, B, C and D lying in a straights line, Prove that

AB = CD= = (AD—BC). Which value is promoted through this question?

MM

24 PQRS W&F #aa #, famd rQ || ¢ TRQ W X 3l Y fig 3@ war € R Sx=xp 3w 4
RY=YQ %I afz ) / e T PQ=60 em & 0@
ar(SRYX) : ar(PQRS) 1 #1317 (

PQRS is a trapezium with PQIES X and Y are p 3 and RQ such that SX=XP and
RY = YQ. If GR = 40cm and % tind the ratio
ar(SRYX) : ar(PQRS). O @

25 & wé sl W, A fiig p sl Q e xy ¢ & ww f1 s flag ¥ opsixy, QR !4! s pq w4
nw-ﬁgtlﬁmdﬂﬁiﬂ.fmmzm%l (
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!“ the given figure, P and Q are two points which lie on the same side of line XY. PS1XY, QR_XY and T
is the mid — point of line segment PQ. Prove that TS =TR.

‘P T
T r———
i
» 3
’
v s
\
S
’] .
f \
s
/
>
-%X - >
5

26 gd 3l H, AB SR BC F% O 9%l U g &1 21 o4 37 %R ¥ £ABO= ,CBO Y 3% 4
AB=6cm 3R ZABO=30° %, @ BC 3it LAOC & A1¥ wra wifou |

In the giVQﬂ ﬁglll’t‘, AB and - are o chords of a clrcle whose contre s O such that

ZABO=£ZCBO. If AB=06ctm and ~ Vg, Iind the measures of BC and 2/ AOC.

0

2

27 T SR FAX &1 B0 18 om § 99 706 33 U @ W@ 31 38 0 gl W6 om S 4
4 6 cm FEE AT FTARER WRE A NG T Q0 FE w6 5 f R i 3@
STYTFHAT BTt ?

A hemisphericai bow! of internal radius 18 cm contains a liquid. This liguid is to be filled in eylindrical
hottles of diameter 6 cm and height 6 cm. How many bottles are required to empty the howl.
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HIEXUHRA! B1{T ?

The capacity of a closed cylindrical vessel of height 2 m is 30.8 litres. How many square metres of
metal sheet would be needed to make it?

@ T VRCE SEen F T f U W Feriwn weT gR s ) WF 6T SN A AH A
20 cm & T2 9RY H W HT <76 18 ki TR Hey B0 4 W02 v TR Teet wHY W =t firmr

Water is supplied to a city population from a river through a cylindrical pipe. The diameter of the
cross section of pipe is 20 cm, the speed of water through the pipe is 18 km per hour. Find the
quantity of water in litres which is SUF)W the city in 4 hours,

30

wifFa W@ S & agasm 0 T wiEn e g9 aa e Ty 2 a9

In a small town, the types of newspapers distributed in the morning are given below in the
graph '
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Find the probability that the family chosen at random is taking both Hindustan times and
Economic times

31 S -~

wF TEn # wfew @@ 6500 & §1 fafv= w9 wETies =E AN

i —

S St

e

l i

e e R e e e

qrO T TAE WE G o aen aefas @i 9

Leiisid

The monthly income of a family is Rs. 6500. Proportionate expenditure on
different heads are given beiow :

Heads Ratio

B | 'l
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Food 5 ]
Clothing 4 !
Rent 6 E
Education 3 |‘
Miscellaneous 4 ’i
Prapare a table to show the actual expenses in each head and hence |
draw a bar graph. !

@vE-q [ SECTION-E

" 7 (}TF 9T /Open Text)
(* Please ensure tha t of the given theme is supplied with this question paper.)

32 Theme-II (Adventure Cam

(3) THET FT ATH T, W ARy afeass W

(i) 7% 733:" TR H R TR AT |
(il EL F’F"f'l' ot rARE R AT

() adt Rl i mms a Ferrrwre frart § 5w ae W frg - omn &, @
T ATAT T2 § AT FHAT |

(d) a@ﬁﬁfﬂﬁtﬁgﬁ?ﬁﬁfﬁﬁmvﬁmawmﬁ? appraatr e ww YA
afaror FrRrT ol s g =g ot st ARy

(a) Name the place of adventure camp. What was the idea in mind of principal for
arranging an adventure camp?

(b) Inthe Brigadier's team, one person is chosen at random. Then find the
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probability that in rock climbing he

(i) would have been succassful in second attempt.

(i) would haven@va? a;tempted.

(¢) Find the total quantliWof wekcgme drink required in litres to be

all the students in cylindrical glaages fi I[ad_(tlll brim.

”tf

(d) Inthe camp, whatwas the total numbaf o{ students & teachers?

linear equation to represent this and give its any &hur* solullons

.;.\,-., > -aﬂ
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